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1. Games and sets.

The games we shall consider have three characteristics. First, they are
played by two players, who move alternately according to certain rules.
Secondly, we require that in any game it happens, after a finite number of
moves, that the player whose turn it is has no legal move; and thirdly, we
adopt the convention that this player then is the loser. Of the several

possible ways to formalize this concept the following is probably the simplest.
Definition. A game is a set.

A few words of explanation may be in order. If a, b are two positions
in a game, then we say that b 1is an option of a if, according to the
rules of the game, it is legal to move from a to b; it is assumed that
this only depends on a and b, and not on whose turn it is. We identify
each position with the set of its options, and each game with its initial
position; whence the definition. Notice that an element of a game, or of a

position, is itself a position; hence all sets we are considering have only
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sets as their elements, as is usual in axiomatic set theories.

Thus, playing a set & 1is done as follows. The first player chooses
an element of S, say S'. Next the second player chooses an element, say
8", of §', whereafter the first player chooses an element of §". The
game continues in this way until one of the players - the loser! - has to
choose an element from the empty set; the azxiom of regularity (any non-empty
set x contains an element disjoint from x} easily implies that this
situation actually occurs after a finite number of moves.

Example. Let n be a natural number, i.e. a finite ordinal. If we adopt the

usual definition of ordinal numbers, which implies thart

a = {8: B is an ordinal <’&f for every ordinal «,
then we have

n = {O, 1, 2, ..., n—«lf.

The game n can be played with n counters; moving just means taking away
an arbitrary non-empty subset of these countevrs. Notice that the first player
has an easy win by taking all counters, if n > 0; If n = 0, the first
player has no move and loses. The reader may wish to analyze the game W =
gn: n is a natural number} (including zero).

Example. E, the complex numbers. The iollowing annotated game will make the

rules clear.

White Black
1. 3 -2i {31R}
2. 3y (22/7),
3. (b4hy,-14,07  {-44, ]
- . i
4. bb., (Opys 4 V!

5. White resigns.

Comment. 1. White selected a complex aumber., Black knows that € = R yx R
3

by a + bi = (a,b), and remembers Kuratowski's definition of an ordereq pair:
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(x,y) = {{x},{x,y}}. Thus Black must choose an element of {{3ﬂi}’{3ﬂi’nzﬂiff;
The index R here, and later %, Z and IN, serve to distinguish between
real numbers, rational numbers, integers and natural numbers usually denoted
by the same symbol. Black's move leaves White a minimum of choice, but it is
not the best one.

2. White has no choice. The "Dedekind cut" definition of R which the
players agreed upon identifies a real number with the set of all strictly
larger rational numbers; so Black's move is legal.

3. A rational number is an equivalence class of pairs of integers (a,b),
with b # 0; here (a,b) represents the rational number a/b. The question
mark denotes that White's move is a bad one.

4. The pair (a,b) of natural numbers represents the integer a-b.
Black's move is the only winning one.

In

5. White resigns, since he can choose between fO and {O

Dﬁ NG QQDJ.

both cases Black will reply by an, which is the empty set.

2. Nim addition and multiplication.

The sum J + K of two games is recursively defined by
J+K=1{j+K J+k: jeJ, kek},

the recursion being justified by the axiom of regularity. Informally,
playing a sum of two games means selecting one of the component games,
making any legal move in that game, and not touching the other one. The next
player then also selects one of the component games - possibly the same,
possibly not -, makes a legal move in it, and does not touch the other game.
The game continues in this way until some player is unable to move in any of
the two components; by our convention, this player has then lost.

Notice that + is commutative and associative. We denote repeated sums
by J 4+ K+ ... + M; they are played in a similar manner.

Example. NIM is played with a finite number of heaps of counters, the i-th



heap counting n, counters, say (0 < i< t). A legal move is to decrease

strictly the number of counters in any heap. Clesrly, this is the game

0 T t-1
with n, as in section 1, and + not to be confused with ordinary addition
of natural numbers.

The analysis of NLM is well-known, and due to C.L. Bouton (Nim, a game
with a complete mathematical theory, Ann. Math. 3 (1902), 35-39). Let the
nim-sum a @& b of two natural numbers a and b Dbe obtained by writing
them down in binary and then adding them without carrying; e.g. 5® 9 =
(101)269(1001)2 = (1100)2 = 12, Clearly, (IN,®) is an abelian group of
exponent two. Bouton showed that a winning strategy for NIM consists of
always moving to positions for which w)%ml€%,.@mt~l = 0; such a move is
impossible if the position one has to move from already has this property,
but this is only natural, as the opponent may be following the strategy.

It was noted by R.P, Sprague (Uber mathematische Kampfspiele, T8hoku
Math. J. 41 (1935/6), 438-444) and P.M. Crundy (Mathematics and games,
Eureka 2 (1939), 6-8) thar the analysis applies to arbltrary sums, in the
following manner.

Let the Grundy number G(J) of a game J be recursively defined by

G(J) = smallest ordinal not of rthe form G(j), with j € J.

The reader who dislikes ordinals may restrict to bounded games, i.e. pames J
with the property that for some fixed n ¢ W no chain x_ € x_ € ... € X,

€ Xy ® J exists., For such games, and all their positions, the Grundy numbers
are finite. Examples of bounded games are shorti games, i.e. fimite sets all of
whose elements are shorr (“hereditarily finite sets").

We have G(§) = O, and more generally G(n) =n if n is a natural

number . Notice that

G(J) # 0 o Hdje3: 6(3) = 0,
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From this it follows recursively that the first player has a winning strategy

in the game J if and only if G(J) # O, and that, for such J, the choice

of an element j € J 1is a winning move if and only if G(j) = 0. Thus to win

a game one has to know the zeros of G. The result of Sprague and Grundy implies
that the Grundy number of the sum of two games only depends on the Grundy numbers

of the components:
Sum theorem. G(J + K) = G(J) @ G(K).

Here @ is defined for ordinals as for natural numbers: write each of the two
ordinals to be nim-added as a strictly decreasing sum of ordinals of the form

a . . . ..
, delete the terms occurring in both expressions, and add the remaining

2
terms in decreasing order. The class On of ordinal numbers with the operation

® satisfies the group axioms, except that the underlying domain is no set.

Following Conway, we say that (QE’ @) is a Group. The exponent is again two.

Exercise. Determine the unique winning move in the game W + Z + Q + R + T,

the conventions being as in section 1.

The proof of the sum theorem may be left to the reader. The essential
property of © which one needs is that for any three ordinals a, B, y with
v < o ® B there exists a' <o with o' ®B =y or B' <pB with o P B' = v.
Since for o' #a, B' # B8 one certainly has o' ®B#a DB #aP®B', it

follows that

a B8 is the smallest ordinal number different from all o' & B

(2.1)
with o' <o and from all o @ g' with ' < Bg.

It was noticed by Conway that this property may in fact be taken as a recursive
definition of ®. A charming feature of the definition is that no mention is
made of the binary system; on the other hand, (2.1) cannot be taken as a basis
for an efficient algorithm to calculate o ©® 8.

As Conway remarks, @ 1is in a sense the simplest addition making the

ordinals into a Group. More precisely, if 3 1is any Group operation on the



ordinals, then surely

a B #Fa' o B for all o' # a,

a* B #a * B for all B' # B.

Taking for o # B the smallest ordinal not forbidden by these rules, for

1

o

< g and B' < B (since qg'%*B, oxB' must "already exist") we obtain * = D.

It is remarkable that starting from the inequalities above we arrive in this

way

The

1or

For

due

For

at a Group structure., Precisely the same thing happens for nim multiplication.

basic inequality to be used bere expresses that we wish no zero-divisors, i.e.

(a - a D). (b -b'Y #£0

a#a', b#b', co
ab # a'b + ab' - a'b’',
us, + = - =B, so we are led to the following definition of nim multiplication,
to Conway:

aef is the smallest ordinal number different from all ordinals
(o'eg) ® (aeB') B (a'op"), with o' <o, B' < B.

example, if o = 0, then no ' < g exlists, so there are no forbidden

elements; hence 008 =0 for all p. Ip a similar way one proves that 1lop = g

for

all g.

Conway's amazing result is.

Theorem. The class On of ordinal numbers, with addition “ and multiplication

3

analysis of games. In section 4 the subfield N of On

and

is an algebraically closed Field of characreristic 2.

This field is denoted by On,.

In the next section we shall see which role the nim product plays in the

5 will be considered,

section 5 is devoted to the nim-algebra of transfinite ordinals,



3. Coin turning games.

It is not difficult to define a multiplication of games such that the

multiplicative analogue of the sum theorem holds: if we put
IxK={(1xK +0xk +({(Gxk: jeJI, k €K}
then one easily checks that
G(J x K) = G(J)eG(K)

for all games J, K. Unlike sums, however, products do not naturally turn
up in the analysis of games, and it is in fact hard to see how a product lends
itself to practical play. For example, consider the game n X m, with n, m

natural numbers. After t moves the position will be of the form

(3.1) (alxb1)+(a2><b2)+... + ( ),

Be41 X Pt
with all ai, bi natural numbers, A legal move is to replace one of the
terms, (axb) (say), by three terms (a'xb) + (axb') + (a'xb'), with
a' <<a, b' <b. Conway, in his game "Diminishing rectangles', represents
the position (3.1) by 2t + 1 rectangular cards placed on a table, the i-th
card measuring a, inches in one direction and bi in the other. Cards with
a; = 0 or bi = 0 are naturally invisible, which corresponds to @ x J=Jx @
= ¢ for all games J. Conway assumes that the players have an indefinitely
large stock of cards and a pair of scissors at their disposal; for a description
of the ritual, see ONAG, p. 132.

A more playable version of the same game is obtained if we observe that,
for any two fixed natural numbers a and b, the number of times (a x b)
occurs as a term in (3.1) is only relevant modulo two, as far as the Grundy

number is concerned. This is an immediate consequence of the sum theorem and

the fact that On, has characteristic 2. Thus we may restrict attention to

positions

(3.2) (al xl)l) I (a2><b2) L (auxbu)

in which all paivs (a,,b. ) are distinct. Moving now means first to replace
i T



one of the terms (axb) by three terms (axb) + (axb') + (a'xb'), with
a'<a, b'<b, and next to remove terms occurring twice.

We represent the position (3.2) by a rectangular array of coins, with
those coins showing heads occupying positions (al,bl)j eees (au,bu), the
coordinates numbering from zero. A legal move cleavly consists of turning the
coins at the four corners of a rectangle with horizontal and vertical sides,
subject to the condition that rhe top right-hand coin  goes from heads to
tails.

This is an example of a coin turning game. As we have seen, the Grundy

number of a position is the nim sum, over all the heads, ol the nim product
of the two coordinates. The corresponding one-dimensional game is played with
a row of coins, a legal move being to turn two coins, of which the right-most
goes from heads to tails. This game is easily seen to be a disgulse of NIM;
so the two-dimensional version might be called NIMxNIM.

Generally, a coin turning game is specified by a partially ordered set P,

the board, and a set T of {inite subsets of P, the Lurning sets. It is

required that there are no infinite strictly decreasing chains in P, and that
each element of J thas precisely one waximal element. In a Lypical position of
the game, the bosrd is covered with conins, with only finitely many coins showing
heads. A legal move consists of turuing Che coins occupying a turning set,
subject to the condition that the coin occupying the maximal element of the
turning set goes fromheads Lo tails. More formally, a position is determined

by a finite subset A of P, and a legal move is to replace A by its
symmetric difflerence with some clement T of &, subject to the condition

that the maximal element of T is contained in A. As usual, two players

move alternately, and i{ no legal move in possible ~ this is bound to happen
after finitely many turns -~ the last player is the winner,
In the coin turning game specified by P and J, let AP o denote the
5 &)

position determined by the finite subset A of P. Tt isg easily checked that



(3.3) G(AP’J) = ¥ G(ia}P,S)

acA
(¥ denotes nim summation), and that G({a}P 3) is the smallest ordinal
distinct from all ordinals EtET, t4a G<§t}P,3)’ with T ranging over all

elements of d which have a as their maximal element.

If P J and P J

10 9 95 99 specify coin turning games, then the product

of these games is specified by P, J, where P 1is the cartesian product of

Pl and P2, and

T o= §T1><T2: T1 € 31, T2 € 32}.

The ordering on P 1is defined by

<b in P and a, <b in

< i d i
(al’aZ) —-(bl’bZ) if and only if a 1 1 , b,

1
It is easily seen that P and J satisfy our requirements. The product

theorem states that we have

c({ (a,b)} ) = G({a} )oG({b} )
i P,3 P13y P, 3,
for all (a,b) € P, hence
6a, ) = ¥ (6({al )eG({b} ))
B3 (4, b)ea P8y Bysdy

for all finite A < P. The proofs may be left to the reader.

Any game J can be represented by a coin turning game: define P(J),

J(J) by
p(J) = {Jft U U P() (the "set of all positions of J"),
jed
3(3) = {{a,b} c P(J): ac€ b{,

and impose on P(J) the weakest partial ordering for which a < b for all
a, b ¢ P(J) with a € b. 1t can be checked that, in the game specified by

P(J) and J(J), the position determined by the one-element subset fJ} of
P(J) is J itself:

oy, 3y =

Several examples of coin turning games are given in the forthcoming book

by E.R. Berlekamp, J.H. Conway and R.K, Guy ("Winning Ways", Freeman, = 1978).



We describe here a class of examples, invented by Conway, which has an

interesting connection with coding theory.

Let d, n be natural numbers, satisfying
n = fO, L, ..., nwll with the natwural ordering, and
Thus, the coin turning game specified by P and J
of n coins, and a legal move is to turn less than

one, the right-most going {rom heads to tails.

We identify the positions in this game witrh the

IF, is the two-clement field), the element (ai)g:é
to the subset {i ¢ P: o, = 1}. By (3.3), the map

each position fo its Grundy number, is ¥, -lineer; here IN
o

n>dz>1.

We choose P =

J={TacpP: 1<4r<df.
is played with a row

d coins, but at least

n
elements of ]Tz (here

of ﬁén corresponding

0

T, - I which maps

2

is an E5~vector

. . P 4 - o B . PN .
space with nim addition. Therefore the subset K< T,  of positions with

i
., .

zero Grundy number is a liunear subspace of 5

Recall

that the positions

with zero Grundy number are exactly those which one should move to in order

to win.

We give an aliernative description of these positions,

(a.) < Ab.,)

lexicographically, hy ilien WPy

fen

with

all 1 ¢ n

for

. iy S (R .
The Hamming distance & on 4E2 ic defined by

6((a, ), (b)Y, = i ioa, 9 b,
(cl ien (ll)l_én) fHL £ L # big
0) i (k-1) n
Now we construct a cequence of elements c( s c( ), cees O of 1F,
in the following inductive manner:
(iy . : X L
c is the least element x € I, for which
3y 5. .
b(e °7, x) 2 d for ull j < i,
it no such ~ exists then the conslbruction stops, awd we put k = i, Clearly,
. 0y (1) (k=t} . .
all clements of € = {c , C s eee, © l have murual Hamming distance at
s + - S U
least d; in the launguage of codinpg theory, the subset € of ¥, is a

code of word length n and distance 4 over F?”,

Order ﬁén

i aad only if there exists j O n

with 1o .

Moreover, € ig the
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lexicographically first such code, in an obvious sense.

Notice that L0 € 1F2n , and that
c(o) < c(l) < .00 < c(knl),
The definition of the c(l) makes it clear that in the game we are discussing
e (1) (1) L
it is illegal to move from c¢ to ¢ , for any pair j, i, but that for

every x G'Ezn ggg_appearing among the c(l) there exists a C(J) < x such

&)
that it is legal to move from x to ¢ ] These properties imply that the
(D

are exactly the positions one should move to in order to win, i.e.,

[t}

C K.

It thus follows that the lexicographically first code of given word length

and distance over imz is linear. It is an amusing exercise to prove this

directly.

Conway observed that for specific choices of d and n some well known

codes appear.

d = 1. 1In this case, C = Eén; the game is a very quick win for the second

player,

d =2, Here CC Eén is the "parity check code", consisting of all vectors

with an even number of coordinates equal to one. The game is known as '"She loves

me, she loves me not".

d = 3. This game is a disguise of NIM. For n = 2™. 1, for some m > 2, the

code is the Hamming code; this is a perfect one error correcting binary code.

Its dimension is n - m.

. m . .
d = 4. Here we obtain, in dimension =n = 2, the extended Hamming code, which

is obtained from the Hamming code by adding a parity check bit in front. We

leave the analysis of the game to the reader.

d =5 n=17. This yields the quadratic residue code with the prime 17, of

dimension 9.

d =6, n=18. The same, extended by a parity check bit.

23. The code obtained here is the famous Golay code, a perfect

i

d =7, n
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binary three-error correcting code of word length 23 and dimension 12.

d =8, n= 24. The same, extended, The group of all permutations of the n

coordinates of :mzn mapping the code to itself is the Mathieu group M24,
It acts 5-fold transitively, and has order 24.23.22.21.20.48.
The reader easily checks that, for odd d, the passage from d, n to

d -1, n+1 generally corresponds to adding a parity check bit in front of

the code C,

4, Exercises with natural numbers.

The set W of natural numbers is a subfield of On, which is iscmorphic to

the quadratic closure of TF We recall Conway's more precise results. For

9*

proofs, see ONAG or section 5.

The quadratic closure of iW? may be described as

T, ( -)

o (XX %Xy,

where the X satisfy the equations

(4.1) x4+ x, + JT x. = o.
i i .
i<d
For each 1 we have
Eé(xo’xi"'°’xivl) = Eézi’

and xy is quadratic over this field. Tt follows that any element of

Ez(xo,xl,xz,.- .) can be written in a unique way as
(4.2) soTT X
Vel LoV

where v is a finite set of finite subsets of 1IN.

k
Any natural number can be uniquely written as ngw 27, with W N {ipite.

i . .
Writing each k ¢ W as 2 for some finite V < W depending on k we sec

/W.,
T
that every natural number has a unique representation

5l
(4.3) o1 20,
Vel i€V

with W as before.
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Conway proved that there is a field isomorphism (IN,®,°) - Eé(xo,xl,...)
mapping the element (4.3) to (4.2). In view of (4.1) we are thus able to nim-
2 1 1 0 1

multiply any two natural numbers. For example, 77 = 22 ~22 + 22 ~22 + 22 + 1

maps to X,x, + X, Xy * X + 1, so 77077 maps to

271 170
22 22 2
XoXy + X1 %q + Xy + 1
. 2 2 2
which by X, = X, + X Xqs Xy T Xy + Xy Xy T X + 1 reduces to

This is the image of 2 27 + 2 *27 + 2 '22 + 27 4+ 1 = 109, so
77277 = 109.

The isomorphism implies that for each i the number 2° = {0, 1, 2, .., 2 -1}

is a subfield of IN.

Exercise 1. From the definition of the nim product it is clear that ne°m < nm,
since the number of '"forbidden values" is at most nm. For which pairs of
natural numbers does equality hold?

i .
2 . i+l
Exercise 2. Prove that 2~ 1is a primitive root of the field 2 if and only

if i =0or 1.

Exercise 3. Prove that x°°3 = 22 has three solutions in W, for each i > 2.
Here, of course, x°°3 = x°x°x. Can the solutions be explicitly written down?
(To the last question I have no satisfactory answer).

Exercise 4. Prove that the following algorithm to calculate the nim product

of two natural numbers is correct.

Write each of the two numbers n, m to be nim-multiplied in the binary

system:
k
n=>y aka, m = 7 bkz 3
k k
with all ay bk equal to zero or one, and almost all to zero. For any natural
i TR 1 W o= i 1
number k = xieV 2" (Vc IN finite) we define k EieV 37, Multiply the two

* k¥
polynomials ¥, aka and 7, b/ X in W,[X]. Let the result be
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- 1 9 . = T
f=3cX ¢ :WZEXJ, c, € fo, 1} L
2

# If now every 4 with c, = 1 is of the form k#*, then with dk =c .y Ve
can write f = Zk dekw, and the product of n and m is given by

nem = 3 dkzk

k

where d,_ € {0, 1! is interpreted as an element of IN.

k

If however c{= 1 for some f not of the form k¥*, then let h denote the

largest such . The number h has a 2 Jn its ternary expansion, say at

position j (i.e., corresponding fto 31), with j minimal. Redefine { and ¢

by

A (it .
£ oo g oa xS (37T /2

L

f =5 ¢ X

' £

(in TWZLX])ﬁ

and return to #.

Exercise 5. Prove that the following algorithm to determine the nim inverse

17n of a non-zeroc natural number n terminates, If =n =1, put 1/n =1.
ol

If n > 1, then determine the largest natural number 1 with n > 2" , put

i
a = [n/22 1 (greatest integer brackets), calculate m = 17(n°c(n®a)) by

recursion and put 1/n = (n®a)onm.

Kxercise 6. Let g be a natural number which is a field, i.e. q = 2 for
i . . . . .
some n., Then {q : ic HJ} is a g-basis for MW, and if we express the

g-linear map F: N> IN defined by
F(x) = x%ocq
(repeated nim multiplication. cf. exercise 3) on this basis:

qloog = 2 b, .°q",

iemw H
with bij € q, bij = 0 {or almost all i (for fixed 3), the coefficients
bij satisfy
b,, =0 if L >3,
L]
b = 1 for all j,

1]
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bj 341 =1 for all j,

bj 42 does not depend on j, only on q, and equals O or 1.
In particular

geoq = q &1 =4q+1,

2 2
qzooq =q &qgqDe =49 +qg+c¢

where ¢ = bOiZE {O, 1}.

Exercise 7. For q=2, 4, 16,256, 65536 we have e=0,1,1,0,0 in the previous

exercise, respectively. What is the general rule? (I do not know the answer).

n_.n
Exercise 8. Let the 2 X2 -matrices A, Bn over T, be defined by

2
0 Ai
A = (1), A = s
0 n+1 A A
n n
an A B
B. = (1), B =
0 n+1 0 B
jul

Prove that if we put q = 2 1in exercise 6 we have

B = (bij)osi,an’

n
2
and that Aan = BnAn’ for all n > 0. (See page 16 for the matrix BS')

Exercise 9. Let q € N be a field. We extend the q-vector space structure on NN

to a module structure over the polynomial ring q[X] by
X.n = noogq for n € IN.

Prove that for every i € IN the number ql is a q[X]-submodule of IN, and that

IN has no other ¢[X]-submodules except itself.

Exercise 10. Let the natural numbers ¢, r be fields, with q <r, and let x ¢ r.
Prove that the elements J(x), with o ranging over the Galois group of r

over ¢, constitute a q-basis of r if and only if x 2> r/q.

Exercise 11. Let n be a natural number which is a group, i. e. a power of 2.

Prove that the sequence (n°°q)q=2, b, 16, ...° q ranging through the natural

numbers which are fields, is monotonically non-increasing with limit n.
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1
1

1

]
11111111

-~ 16 -
a°°(23).
= 2% 1,
1
1

1
1

1
1
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Exercise 14, Let q € IN be a field. Prove that the (q + 1)-st nim-roots of

unity different from 1 are the numbers
((x°x)BqgD(q/2))7 ((x°x)BxB(q/2)), 0<x<q.
Here | denotes nim division.
Exercise 15.(S. Norton). Define a &b, for natural numbers a and b, by
a&b = smallest natural number different from all numbers
a'é&b, with a' < a,
a&b', with b' < b,
a" &b", with a" < a, b" <b, a&b" = a" &b.
Prove that (IN, &) is an abelian group of exponent three, and that a&b is

obtained by writing a and b in the ternary system and adding without
carrying.
Exercise 16. Is there a multiplication * on TN, with a similar definition

as ©°, such that (W, &, *¥) 1is a field of characteristic three? And what

about characteristics 5, 7, 11, ..., 0 ? (I do not know).

5. Transfinite nim-algebra.

This section is devoted to the nim-algebraic properties of ordinals. For the
ordinary arithmetic of ordinals to be used, see H. Bachmann, Transfinite
Zahlen, Springer, Berlin etc., 19672. We denote by  the least infinite
ordinal, and we adopt the coavention q = {g: B is an ordinal < al  for
ordinals q; so w = IN. We call o a group, ring, etc., if it is one with

respect to the nim operations.

The basis for all we shall say is formed by Comway's simplest extension

theorcms, which state that an ordinal o Dbehaves algebraically in the simplest

possible way with respect to the set o of smaller ordinals. More precisely,

if @ > 2 then we have:

- if q 1is no group, then qa = B ® vy, where (B,y) is any lexicographically



least pair of elements of a with B ® vy & a;

- if o 1is a group but no ring, then ¢ = Beovy, where (B,y) 1is any
lexicographically least pair of elements of o with B°vy ¢ a;

- if o 1is a ring but no field, then o = 1/8, where B 1is the least non-
zero element of ¢ with I7B ¢ a3

- if o is a field but not perfect, then gon = B, where B 1is the least
element of ¢ having no nim-square root in «;

- 1if o 1is a perfect field but not algebraically closed, then @ 1is a zero
of the lexicographically least polynomial with coefficients in ¢ having no
zero in ¢ (in the lexicographic order, consider high degree coefficients
first);

- 1f o 1is an algebraically closed field, then ¢ is transcendental over q.

Exercise. Let q, B be fields, ¢ < 8. Show that B = aY for some vy. Prove
2
that if vy = 4, then also «a is a field.
w

The foregoing results were used by Conway to show that ww is an

algebraic closure of 2 = {O, 1}, see ONAG, Ch. 6, th. 49, For a proof that

in www the nim operations can be performed effectively, If the ordinals are
represented in Cantor normal form, see HWLJ, On the algebraic closure of two,
Proc. Kon. Ned. Akad. Wet. 80 = [ndag. Math. 39 (1977), 389-397. The reader is

invited to solve the following problem, and Lo communicate the solution to me:

1s it true that

13 7
W? yeea7 =¥ +1 2

Let t be an ordinal which is an algebraically closed field, e.g. t =
4 . Then ¢t s transcendental over t, so a t-basis for t(t) is given by

B = {toon: newl U {(e®a)eel(-n): act, n€w, n#0}

'partial fraction expansions'"). Lt can be deduced from the simplest extension

theorems that

teen < teoem if n, méw, n<m,
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toon < (tPqa)e°(-m) if n, mecw, m#¥ 0, @ € t,
(t®a)eo(-n) < (£Da)oo(-m) if n,mew, 0<n<m a € t,

(tDa)eo(-n) < (£t®B)eo(-m) if n,mecuw, #¥0,a, B€ t, a<3B,
and that, for 0y s Bb € t, ap = Bb = 0 for almost all b & B, we have

5 o b< ¥ B °b
beB °  beB D

. . [] .

if and only there exists b' € B with oo < Bb" a, = Bb for all b ¢ B

with b >b'. So the well-ordering of t(t) is lexicographic with respect to

the t"basis B. Since B haS Order type w,(l-{-t) = t (use the 1ast exercise')

it follows that t(t) = e In particular:

W
W

W’ & o) =T,(0).

The field t(t) is made perfect by adjoining too(1/2") for all n € w. That
t

yields a tower of w quadratic extensions, so the perfect closure of t is
t,2% t .
() = t® in particular
> p
o is the perfect closure of @~

Since algebraic extensions of perfect fields are perfect, the next nim-square
root extraction will only take place after the next transcendental.

We prove:

Theorem. If the ordinal t is an algebraically closed field, then the

quadratic closure of e(t) 1is

//t
t'/ n
lim ¢t X,

new
in particular
@
o f}f/nx
e. = limw
0
new

is isomorphic to the quadratic closure of fﬁz(t).

We make some definitions. For an ordinal x, let P(x) = x°x ® %, and

denote by x* the smallest 'y with P(y) = x; the other y is then x¥* ® 1.
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Notice that =x*PDy*= (xPy)* for all x and y. If the ordinal u is a

field, we put P[u] = {P(x): x€u}; this is a nim-additive subgroup of u.

The field wu 1is quadratically closed if and only if u 1is perfect and ®[u] = u,
i.e. x* ¢ u for all x ¢ u. If u 1is perfect but not quadratically closed,
then wu = x%* with x the smallest element of wu - P[u]. Clearly, this x 1is

also the smallest element of

L(u) = {A€u: there is no B€u such that APDP(B) can be written

as a finite nim sum of ordinals <\}.

We notice that every X ¢ L(u) 1is a group, and that L(u) represents a 2-basis
for u/P[ul. One should think of L(u) as "the list of elements )\ for which
t

A* must be adjoined". In the case u = t(t) = t it is straightforward to

verify that
L(tt) = {(too(2n+1)) ek, ((£®adoo(-2n-1))°r: ne€w, a,A€t, A a group}.

(Notice that ©[t] = t.) The order type of L(e®) s s.t, where 2° = ¢,
If wu/u' 1is algebraic and purely inseparable, then L(u) = L(u'), as
one easily checks. Thus L(e™) = L(tt). The above theorem now follows from

the following more general claim, in which an e-number is an ordinal o with

Claim. Let the ordinal u be a perfect field, and let v be the order type of
L(u). Suppose that v # O. Then the quadratic closure of u is ue, where ¢

is the smallest ¢-number > v.

For u=2 we {ind v =1, ¢ =, so w 1is the quadratic closure of 2,
as asserted in section 4. The multiplicatrion rules in ® can easily be deduced
from the proof of the claim given below.

Proof of the claim. The quadratic closure w of wu 1is an ascending union

C...Cu Cu = o
2 w w+l v

for some y to be determined, where the u, are defined as {ollows: Yima
. b

. . , 2 .
limu = u for a limit ordinal, and u =u (u) =u with u = )\ 3%,
o a atl o o a a o
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where Aa is the smallest element of L(ua); if L(ua) =@ then o =y and
a

we have reached the quadratic closure. Clearly, u, =u for all o <y.

To determine y we investigate the lists L(ql). It is straightforward

to prove that

L(ué) = 1im L(ua) = U N L(uB) =N U L(u.)
a<s a<s B a<d B0 P

if & is a limit ordinal,

L(u

) = GG —{Kai)LJ{ua.k: A € Llu)} if L(u) # 6.

It follows that if we put

M(g) = U L(uB), for o <y,
B

then M(q) is a beginning segment of M(a'), for o <qa' <y, and L(%x)
consists of all elements of M(a) except the first ¢ ones. Consequently, if

£(q) 1is the order type of M(a), then we have

£(0) = v,
£(1im ) = lim £(a),

fl@+1) = £@) + (- + £(a)) if fla) >a,

i

and vy is the only o with f£(a) =o. Notice that f(a) >a for all o <y,

and that £(a) < f@") if a<a' <y.

Let first 1 < v <w. Then one easily checks that f£(n) = ~(2"n-1) +v.2"
for all n <w, 8O fw) =w, y=w, ws= u2y= uw, and since ®w 1is the smallest
c-number > v the claim follows.

Next assume that v > w. Then f£(n) = v.2" for all n <w, so f(w) = v.u

a
> w, hence y > w- From the definition of f it is clear that f(a) < v.2

AV

Wew

whenever £(g) is defined, i.e. whenever ¢ <y. Let now ¢ denote the smallest
c_number > v. If € <y then f£(e) is defined, and f(eg) < v.2% = ¢ (cf.

Bachmann, section 15), contradicting that e < y. We conclude that ¢ > y.

We prove below:
(5.1) w<p<e= £(B) is defined and > B + 2B,

It follows that every B <e 1is <y, so &€ <y since € 1is a limit ordinal.



We conclude that € =y, and w=u =u = u® as required.

The proof of (5.1) is by induction on B. For R = w we have f£f(B) =
Vg > w.w > w.2 =@ + @ as required. Next, if £(B) >B + 28 then £(p) > 8,
so f(B+l) 1is defined, and since B >w implies 1 + 2B = 2P e have in fact
£(p+1) = £(B) + (-B + £(B)) > B + 2B L. B+ 1 + 2P 4 9P - B+ 1) + 2B+1, as
required. It remains to do the case of a limit ordinal. Let 8 < ¢ be a limit

ordinal. Then f£(B) = lim £(o) > lim (a + 2% = 2P, Now 2P is a "y-number",
B 8 o<B a<B 3
i.e. & + 27 = 2% for all ordinals & < 2" (see Bachmann, section 15), so if

B < 2B then ZB = B -+ ZB and 1(B) > B * 28, as required. If however f > 2B

then B = 2B and B is an c-number. But e is the smallest e¢-number > v,
and B < ¢, so we must have B < v. BSince £ is strictly increasing and

£(0) = v, we have {(a) >v +o for all «a, in particular

f(B)Zv-FBZB+BZB+ZB,

as required. This proves (5.1), the claim, and the theorem,.

Problem. Can all field operations be performed effectively in the field eo,

if all ordinals are written in Cantor normal form? Can all quadratic equations

be solved effectively in CO? (Ihe above proof seems to indicate two affirmative

answers.)

W
Exercise. Prove that 80003 = gV .

Exercise. Prove that €y (the least ¢-number >'€O) is the quadratic closure

of e

It is unknown which ordinal number is the algebraic closure of €o° We

propose a conjecture. For ordinals x; QO’ al’ a (indices ¢ ), almost

21
all 0, we define f(x;ao,al,ay,»au) as follows:

£(x;0,0,0,...) = x + 1,

f(x;aoﬂ,al,az,“.) = f{f(x;q oy ,0 M.);Oyonl,ocz,“.)

0’ 2’

(left iteration),
<3 ., 0 e e .
PG00 00Bat oty )

) = lim f(x;O,;z,,O
fex a< B Tkx

S R T LR

if B dis a limit ordinal, and k C w,
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f(x39’;]‘¥>'<tg’&k+l’%p.1’%@29'«-> = smallest y > x for which

£C050, 2 5057501500 150 1 nseee) =V, if ke w, k2>1.

The proof that the definition makes sense is left to the reader.

Conjecture. If the ordinal ¢t is an algebraically closed field, then the

algebraic closure of t(t) equals lim f(t;@,...,O,l,0,0,...).
new ~ Thx
The conjecture is based on the assumption that any polynomial is irreducible,
except if one explicitly adjoined a zero of it. Clearly, the assumption is wrong,

but it may well be "cofinal™ with the true state of affairs.

Problem. Prove that the algebraic closure of t{(t) 1is at most its conjectured

value. (This should be the easy part.)

Exercise, Prove that f(x;a,B,0,0,0,...) = wB+'Q if x - wB, and =x 1 1 +Faq
it x > wB

Exercise. Prove that £(0;0,0,2,0,0,...) is the least ordinal ¢ with Ea()=dd
in Conway's notation (ONAG, p. 63).
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